= AH O
N = 0 &8 AF S & Al A
20008 = = 1 3 LS H HESFHH ~ BES254HH
SN BERSH4H
M BJENY =5 ¢ 29
Chel: MY XIAHZ (3
2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
MBS 25HH 870,712 840,493 30,219
=2 100,000 100,000 0
= 770,712 740,493 30,219
ZEZTAHS 25 L 29 746,483 702,461 44,022
=2 100,000 100,000 0
= 646,483 602,461 44,022
MBo XAHZ 301,878 299,275 2,603
= 100,000 100,000 0
= 201,878 199,275 2,603
HBe XAB2t =4 175,236 171,895 3,341
201 LEt2HH| 105,257 116,952 A 11,695
01 AFSR22IH] 53,991 59,990 A5,999
Olger=2H|] 53,991 59,990 A5,999
OEAM % HEAM 22l 11,101 13,100 A 1,999
oCAESZ HOEZ R 1,401 3,400 21,999
—HAT A (2 AEZN)
ZA 1,000,0008 * 1Al 1,000 2,000 A1,000
A A2 (20 AE 2 M)
ZE 401,0008 * 14! 401 1,400 999
OEME 3= M= 1,500 3,500 A2,000
OYAT N ZH( 20 AR 2HOH)
ZA 1,000,0008 * 1Al 1,000 2,000 A 1,000
OMS TN (20 AEZM)
ZA 500,000 * 14l 500 1,500 A1,000
OXNDRIIHE 38 L2H(TEIIE=2) (204t
= 2o0) ZE 14,000,000 * 14l 14,000 16,000 A2,000
02 222%H| 51,266 56,962 A5,69
Ol2222 2 MAl 42,266 47,962 A5,69
OX1NH ZIIEBEXNY AIZS2(MAIE2Z M)
ZA 15,472,000 = 14l 15,472 21,168 A5,696
202 OdH] 4,860 5,400 AB540
01 2oy 4,860 5,400 A540
ODIBtE T A 3l4= X =Z0IH| 3,860 4,400 A540
OYAT A0l AR M)
Z3A 2,000,0008 * 1Al 2,000 2,400 A 400
OMS T MB(HAEZNH)
23X 1,860,0002 * 14l 1,860 2,000 A 140
405 KHAHE SH 52,926 37,350 15,576
01 ML SEFSH| 52,926 37,350 15,576
ONEI0l SA EF AAH JDJ|72Y 9,266 13,000 N3,734
OYAT B (20 ARZLNH)
A 4,632,500 * 1CH 4,633 6,500 A1,867
OMST A (20 ARZM)
A 4,632,500 * 10K 4,633 6,500 A1,867




SN HB25HE
m: BTZCHB BE L 29
el BB KANZ (el &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K I8N Hws2
OYATHZ ST Ay 29
83,5002 * 60Z 5,010 0 5,010
OMSENE BIRE =AD| 2
7,000,008 * 1CH 7,000 0 7,000
OYATHZ DTH P 850,008 * 2% 1,700 0 1,700
OMSENZ FHEZNF 2
700,000 * 174 700 0 700
OMSTAHZ 02014 ST [E MIMER
o 700,000 * 74 4,900 0 4,900
CHE R HE 120,972 121,080 A108
= 100,000 100,000 0
2 20,972 21,080 A108
202 o1t 972 1,080 A108
01 =W 972 1,080 A 108
ORYEH XE2T EFOI 972 1,080 A108
OYATHBH(ZOAEH)
A 492,008 * 14! 492 600 A108
ISTHE 29 5,670 6,300 £630
201 Yer2 YY) 5,400 6,000 A600
2 222l 5,400 6,000 600
Olxtzrey]] 5,400 6,000 A600
OOISENZ XZRXUI (0= )
A 5,400,008 * 1k 5,400 6,000 A600
202 o1t 270 300 A0
01 2UhoiH| 270 300 A0
OOSEME 012 =3 Ot (20AE)
A 270,002 * 14! 270 300 A0
=825 JIBEy 343,229 290,546 52,683
WS TAXY 283, 139 227,446 55,693
201 L2y 59,113 54,570 4,543
2 222l 59,113 54,570 4,543
O[2222 % HAl 52,943 48,400 4,543
OFE2EUE I 23
A 34,543,002 * 1A 34,543 40,000 A5,457
OMBTHBLNENE S#AFY) 5,000 0 5,000
oHpRHYS 5,000,000% * 14! 5,000 0 5,000
ONSTHRBNSELSHANLALSET (Y
E9)LorE R 5,000,000% * 14! 5,000 0 5,000
401 AIEHILLCH] 132,500 111,000 21,500
01 Al 132,500 111,000 21,500
OBATHE EHA S2 HIIIEAIL &X(
lATEZ) (HRB2EHIE HAID &XIHIZ)
23 0n 0 10,000 A10,000
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SN BERSHHH
M BJENY =5 L 29
CHel: 28235 JIgtx A (&te @
2N -3 - c2(3H) - NEME - HES Of] AF2H pjEsifon Hl =2
Chst S A2 AMHIA W2 31,250 22,500 8,750
201 LEt2AH| 9,450 10,500 A1,050
01 AFR22/H] 9,450 10,500 A1,050
Olger4=2Hl] 9,450 10,500 A1,050
OAMNHIA BWIF 224 HEH (HILE=2) (=20
AR 24oH) ZA 950,000 * 14l 950 2,000 A1,050
307 QI2to|A 1,800 2,000 A 200
02 DIZtAAEX 1,800 2,000 A200
OS2 4 AH (20 AIE2LM)
Z3A 1,800,000 * 14l 1,800 2,000 A 200
308 AXIESHHSOIH 20,000 10,000 10,000
06 WEIANHSEES 20,000 10,000 10,000
OZ22CAHZX2 R YU 10,0002 * 1,000 10,000 0 10,000
OsnNlt2EN2 294 I
10,000,000 * 102 10,000 10,000 0
HMNSTAD|EXRN 101,376 112,640 A11,264
DS A2S2E 15,687 17,430 A1,743
201 LBt AH| 15,417 17,130 A1,713
03 SAI2ZH| 15,417 17,130 A1,713
OXB2FHE SHIIE AF (I, 45 E4
INESD) 3,747 5,460 A1,713
OSMHIISET ME(20ARZH)
ZA 128,700 * 1094 1,287 3,000 A1,713
202 OfH] 270 300 A30
01 2o 270 300 A30
OR0=EAN2E2S ZFOHI (20 AE2H)
2E 270,000 * 1l 270 300 A30
NEAREMLIH2S 10,827 12,030 A 1,203
201 LEr2HH| 10,557 11,730 1,173
03 A2 HI 10,557 11,730 A1,173
O Ss2as 22 (20095t8H7]) 3,157 4,330 1,173
OANAS(20A=Z2H)
22X 827,000 * 14l 827 2,000 A1,173
202 OfH] 270 300 A30
01 2o 270 300 A30
ONYGAROUESHRE2S FINHI (20 A=Y
o) 2 270,0008 * 14l 270 300 A30
EM252E 39,600 44,000 24,400
201 LEt2HH| 35,685 39,650 A3,965
03 SHAI2ZH] 35,685 39,650 A3,965
OY9AT M2 1Y MDA (HIIER) 1,595 3,560 A 1,965
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S HE
X ZH: SHXE
S Tt

(=)
el Jl=

bl CEERE]
SH-EH . S2(30) - MRAY - BES Ofl &k 04 o s HlmE 2
02 23223l 25,530 28,366 N2,836
OIPNE=F=1=IE=IN]=[}| 17,250 20,086 AN2,836
OFXT, ALPEES IH2S S(HLEL)
Z& 7,410,000& = 14| 7,410 10,246 N2,836
202 O 10,260 11,400 A1,140
01 WY 10,260 11,400 A 1,140
O[=Uoibl] 10,260 11,400 A1,140
SASY SUNL(RUATAN)
Z& 9,660,000 * 14| 9,660 10,800 A 1,140
405 KH&HESHI 2,610 2,900 A 290
01 MARESF=H 2,610 2,900 2290
OLIKIES 2t PY(RoILEZH)
H 210,002 * 14 210 500 £290
SN2 D=3l 34,952 38,836 A3,884
201 LEH2HH| 23,702 26,336 N2,634
01 AtR22iHl 13,010 14,456 A 1,446
Oolger=gtl] 9,010 10,456 AN 1,446
ORMSY SUN& (UML)
2 & 6,410,000& = 14| 6,410 7,856 A 1,446
02 2323l 10,692 11,880 AN1,188
O[A&ZEI=XI8l] 8,232 9,420 A1,188
OFNE, ALPEES, MRS S(6E014) (=
Ol & 24 oK) 23 8,232,000 = 14| 8,232 9,420 AN 1,188
202 O4dl 8,460 9,400 A 940
01 =0Tl 8,460 9,400 A940
O[=Uoibl] 8,460 9,400 A 940
SN2 U A (20 A E M)
23 6,260,000 * 14 6,260 7,200 2940
405 AHoHESHI 2,790 3,100 A310
01 XHAABEF S| 2,790 3,100 A310
OAE A HIE RA(ZOLEAH)
Z & 190,000& * 14l 190 500 A310




